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1)

Calculate the result.

a) 986 − 70 b) 494 − 10 c) 798 − 70 d) 395 − 40 e) 695 − 90
f) 298 − 50 g) 793 − 50 h) 471 − 20 i) 686 − 50 j) 587 − 50

2)

Calculate the result.

a) 474 − 200 b) 358 − 200 c) 495 − 200 d) 327 − 200
e) 736 − 100 f) 452 − 200 g) 641 − 200 h) 792 − 100
i) 534 − 300 j) 421 − 300
3)

Calculate the result.

a) 8200 − 200 b) 5600 − 500 c) 6700 − 700 d) 4800 − 800
e) 8800 − 800 f) 2600 − 400 g) 7900 − 800 h) 5700 − 500
i) 8800 − 700 j) 7700 − 700
4)

Calculate the result.

a) 33500 − 400 b) 72600 − 300 c) 26600 − 100 d) 22400 − 300
e) 74800 − 200 f) 92700 − 700 g) 52700 − 600 h) 77800 − 800
i) 84800 − 800 j) 27600 − 400

Good Luck!
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